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LANGUE VIVANTE I             Epreuve du 1er groupe 
 

ANSWER KEY 
 
I. READING COMPREHENSION  (8 marks) 
 

Column A Column B (2pts) 

En Afrique, beaucoup de diplômés de 
l’université sont sous-employés. 

1-Many young African university graduates 
are doing menial jobs. 

Le chômage peut fragiliser la cohésion 
nationale. 

2- a lack of employment opportunities can 
undermine social cohesion and political 
stability”. 

 
- It (parag.3): underemployment            (1 pt) 
4- The analogy (parag.4): Youth unemployment is a ticking time bomb 
 
5- 60%        6- 25%         7- Self-employed        (1.5 pt) 
 
False/8:  in sub-Saharan Africa and all of those in North Africa, it is easier for men to get jobs than 
it is for women, even if they have the same skills and experiences.        (2 pts) 

False/9: that a lack of employment opportunities can undermine social cohesion and political 
stability”. 

 

10: B        11: D        12: A   (1.5 pts)         
    

II. COMMUNICATIVE COMPETENCE:                    (06 marks) 
 

F. Word derivation:            (0.5 x 4 = 2 pts) 
 

13. Vulnerability        14. Instability        15.Unemployed     16. Joblessness  
 

F. Dialogue completion :            (0.5 x 5 = 3.5 pts) 
 

  17. lucky / fortunate;      18. Found;    19,  grammatically correct, idiomatic, coherent and 
meaningful 
 

G. Functions and Notions:                    (0.5 x 4 = 2 marks) 
 

20. Fact   21. Opinion    22. Suggestion      23. Regret      
      
III. WRITING   (6 marks) 
 

- Topic understanding:      (1 mark) 
-  Coherence:       (1 mark) 
- Relevance:       (1 mark) 
- Accuracy:       (1 mark) 
- Originality:       (1 mark) 
- Organization:                                                                     (1 mark) 

 
 
 

 


